HEREI K% EmXE RE L= HiHE KF
100m 3 9 9
200m 6 7 8
400m 6 9 6
800m 5.5 6 9.5
1500m 21 16 8
5000m 18 21 6
110mH 6 4 5
4 % 100mR 6 9 3
4 X 400mR 3 9 6
rovO & 745 90 60.5
FENE Bk 21 14 10
=Bk 15 7 14
Ew Bk 24 11 10
Bk 13 20 12
Py 11 23 11
J4—ILFEE 84 75 57
&5t 158.5 165 1175




100m

Xt

L—> |No. FilE JIE {2 SCEx% SEfix
2 104 EIF] E N ETX 6 11739 11.48
3 206| K% =R EMXK 1 10791 11.10
4 304| =1 Rk THEK 3 11734 11.30
5 116/ A BEA ETX 5 11741 11.20
6 224 A BREE EMXK 4 11740 11.10
7 315/ A fin THEXR 2 11714 11.02

F—T>

148

L—>  [No. K£ FilE JIE {2 SCEx SEiEx
2 12085 K Eth ETX DNS 11.29
3 207\ HF — 5 EMXK 2 11722 11.30
4 211 jc;% Eth EMXK 4 11772 11.50
5 203 E 5 E1E EMX 5 12721 11.30
6 16|k L2 THEXR 3 11749 11.40
7 KA & FFILK 1 11721
278

L—>  [No. K£ FilE JIE {2 SCEx SEiEx
2 223 |1k % #4 EMXK 3 11766 11.60
3 318[37 7t THEXR 4 11774 11.60
4 213|485 Kith EMK 6 14”62 11.60
5 236 | B E7 &£ EMK 5 13721 11.60
6 NIMEAKRK BR THEK 2 11763 11.60
7 A 5Eh [FYPN 1 11724
3#8

L—>  [No. K4 g [[td soE% SEi ik
2 205|tg5t 2 EMXK 2 11768 11.60
3 230/ A & ﬁiH EMXK 1 11787 11.80
4 11| EH Fd THEK 2 11773 11.90
5 222|E R $hiE EMXK 5 12729 11.80
6 109(B8 £E# ETX 4 12701 11.90
7
4%H

L—>  [No. K4 P& [[td soE% SEiix
2 12683 ;Z ETK 4 12726 12.00
3 125[fl EA ETX DNS 12.22
4 303|F%RE IEZE THEXR 2 11783 12.34
5 34| =% FTA THEK 1 11758 12.00
6 301|F LU hEE THEKR DNS 12.30
7 210|428 W& EMXK 3 11791
5%H

L—>  [No. K4 P& [[td soE% SEiix
2 1318 F= EIX 1 13738 13.19
3 238 KB ﬁé EMXK 2 14746 14.00
4 240|ER EE EMK 4 15749 14.00
5 237| =i ) EMK DNS 14.00
6 239|F 1| EE EMX 3 14”66 14.00
7 305|ElF FRIE THEK 5 15765 16.00
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20

Xt

L—>  [No. FilE JIE {2 08K SEfix
2 116|AH BEXA ET K 3 22”84 23.00
3 207 H — 5 EMX 1 21782 22.00
4 304|518 Rk THEXR 4] 23769 22.90
5 120|F5K ZEth EIX 5 24”68 22.93
6 236 | E £ EMXK 6 26716 23.00
7 316| &k Sz THEX 2 22782 23.00

F—T>

148

L—>  [No. K£ FilE JIE {2 08K SEiEx
2 224 A BREE EMXK 4 23789 22.50
3 315 A fin THEXR 1 22768 22.83
4 213|485 Kith EMXK 2 23734 23.00
5 206| A% R EMK DNS 22.60
6 211|KZE Eth EMXK 5 23790 23.00
7 203| 55 HEhE EMXK 3 23”51 23.00
278

L—>  [No. K£ FilE JIE {2 08K SEiEx
2
3 131|E#E F3 ETX 1 27774 27.92
4 241|551 I51A EMXK 3 30”54 30.00
5 129|ZH S B ETX 2 28”86 29.00
6
7




400m

Xt

L—>  [No. K£ FilE JIE {2 08K SELR
2 109(B8 ££E# ETX 6 56”20 55.00
3 20454 H EA EMXK 4 50798 50.00
4 07[FEX BEF THEXR 5 55”05 54.00
5 122|g1A BEE =IX 2 50”66 49.04
6 208|=;F EE 2 It EMXK 1 48”50 52.00
9 309| K#f FEAER THEKR 3 50”79 50.00

F—T

148

L—>  [No. K£ FilE JIE {2 08K SEiEx
2
3 207 H — 5 EMXK DNS 50.00
4 114[{Fik B ETXK 2 55”50 55.00
5 17|38k B ETX 1 53712 52.10
6 242\ IN =5 EMXK 3| 109728 60.00
7
8




Om

80

Xt

L—>  [No. FilE JIE {2 08K SEfix
2 101 K87 & ETX 5] 201”21 2.01.00
3 221| KL 1B EMXK 71 203782 2.00.00
4 2| KE KF& THK 1| 1'59720] 2.05.00
5 107/l O 5% =] ETX 3] 200774 2.00.00
6 228|# K A& EMXK 2| 200749 2.00.00
7 319|#aH R.A THEK 3 200774 2.07.00

F—T>

148

L—>  [No. K£ FilE JIE {2 08K SEiEx
2 214| A % EMK 1| 204”10 1.58.00
3 GESETS ETX 4] 208739 2.05.00
4 231|FE X9r EMXK 3] 207703] 2.05.00
5 108|FLl EFE ETX DNS| 2.05.00
6 225| BlE SEE EMXK 2| 206765 2.05.00
7 113[H9H kit ETX 6] 216776/ 2.10.00
8 a0 & THEXR 5| 210719] 2.15.00




1500m

Xt

L—>  [No FilE JIE {2 08K SEfix
1 101 7@7 # ETX 2| 415747 4.10.00
2 209 % %8 IIF'E E MK 1| 414705| 4.03.00
3 310[{E2 K &3 THK 9] 428787 4.15.00
4 107/l O 5% =] ETX 3| 415704 4.16.94
5 218|1Fik 16— EMXK 7] 425708 4.10.00
6 313[d Il H1= TR 8| 426702 4.35.00
7 GENETS ETX 4] 418724 4.19.00
8 226/ B FH HA EMXK 6] 423715 4.10.00
9 319|#aH R.A THEK 5/ 419731 4.20.00

F—T>
148

L—>  [No. K£ FilE JIE {2 08K SEiEx
1 127|AH B ETX 1| 403755] 3.57.92
2 128|KE BE ETX 2] 406771 4.10.00
3 118EF I ¥ ETXK 5| 433712] 4.20.00
4 123[E % 1= ETX 6] 437795 4.35.00
5 IZINGER ETX 7] 446736 4.40.00
6 214| At ﬁ% EMK 4] 424759 4.00.00
7 2040 H EA EMXK DNS| 4.10.00
8 304|518 Rk THEK 11| 519733] 5.00.00
9 320(FxH sk THEXR 10| 5'13”711] 5.00.00
10 302| & IEE THEK 9] 507726/ 5.00.00
11 129|ZH S B ETX 8| 450780 4.44.16
12 305|ElF FRIE THEXR 12| 6'02764] 5.42.00
13 217/ 1H# £2 EMK 3| 422760
14
15
16




2000m

Xt

L—>  [No FilE JIE {2 SCEx% SEfix
1 102] ! E {FARER ETX 5| 16'46”44] 16.20.00
2 233 ﬁ&i BE EMXK 2| 16'01”57| 15.50.00
3 313|5 Il &= THEK 71 17702750] 18.00.00
4 105 ﬁJF HE ETX 3] 16'27760] 16.25.10
5 234 | BRI B85 EMXK 6] 16'49”33| 15.50.00
6 320 ﬁEE R ah THEXR 9] 20'15715| 18.30.00
7 106[H0;E EX ETX 4] 16'41756) 16.27.00
8 235K ¥ #4 7] EMK 1[ 16'00”14| 15.50.00
9 321|IUA &iE THEK 8| 17'59723| 16.25.00

F—T>
148

L—>  [No. K£ FilE JIE {2 SCEx SEiEx
1 127|Hd B ETXK 2] 16'13772] 14.56.83
2 128|KE BE ETXK 1] 15°27720] 15.15.00
3 202| 5+ F EMXK 4] 16'36727] 16.40.00
4 212| K€ R&E EMK 10| 1848720 16.40.00
5 216|#258 & EMXK 8| 1750”81 16.40.00
6 217|1H# 22 EMXK 5| 16'57742| 16.40.00
7 220| KB =g EMXK 3] 16'32745| 16.40.00
8 227|8HAK LK MK 6] 1701723| 16.40.00
9 07|[FK &EF THEK DNS| 18.00.00
10 243|K;E HIK EMK 11] 21°09”70[ 20.00.00
11 218|{Fik 16— EMX 7] 1703753
12 113|#935 F=it 2T A 9] 1840782
13
14
15
16
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*tin

L—> |No. FilE JIE {2 08K SELR
2 110|E8E & ETX 2 16720 16.35
3 222|EfH i EMXK 5 21720 18.00
4 14| FilE =X THEK 1 15777 15.57
5 121[327E & ETX 4 16774 17.08
6 223 |1k & 4 EMXK 3 16763 16.50
7 303|BER IES THEXR DNS 22.22

F—T>

148

L—>  [No. K£ FilE JIE {2 08K SEiEx
2
3 205|faJc B EMXK 1 16747 17.00
4 103|E5 7k A ETX DNS 18.50
5 126 BFH i ETX 2 18770 17.50
6 119];5K & [ERpN 3 20”25 20.00
7
8
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FEME Bk

Xt

SRIE No. K4 i@ SEiix 1 2 3 4 5 6|50 8% JIE {2
1 121[327E & ETX 5.77 5.61 X X X X 5.85 5.85 5
2 222| 5 $hiE {E K 6.00 5.47 X X 481 — 5.17 5.47 8
3 318|3LTE THEK 6.00 5.96 5.70 5.79 5.79 X — 5.96 4
4 103|E5 7k A ETX 6.50 6.03 X — X X X 6.03 3
5 205|f@7c B2 {E K 6.20 5.76 X 5.82 — — 442 5.76 6
6 NNIERKR BR B PN 6.60 X X X 5.58 5.69 5.68 5.69 7
7 117|F R BH ETX 6.93 6.37 — — 6.52 X X 6.52 1
8 210[48 A& &3 {E K 6.40 6.13 6.22 6.04 6.09 6.05 6.21 6.22 2
9 311| FF ¥k THEXR 6.00 3.41 X X X X X 3.41 9

=T

HIE No. K% P& SEx 1 2 3 4 5 6|50k [[td
1 119[;5K & EIX 5.30 X X 481 476 453 — 481
2 34| E I =K TR 5.75 5.48 5.48 X X X — 5.48
3 303|BRR IES THEXR 6.00 X 5.12 X — — X 5.12
4 240|=RK EE {E MK 4.50 X X X X 3.88 — 3.88
5 237|KiE o EMX 5.00 X 4.62 X 4.69 453 — 4.69




= Ex ik

Xt

SRIE No. K4 i@ SEiix 1 2 3 4 5 6|50 8% JIE {2
1 115(H# E B8 ET K 12.72 10.20 10.54 10.89 10.90 10.52 10.22 10.90 8
2 230[Ah {1 {E M K 13.50 12.94 12.90 12.67 X X X 12.94 5
3 318|371t Jt NN 12.00 11.30 10.83 — X — X 11.30 7
4 121|377E & ETX 13.55 12.20 12.42 13.20 12.92 12.36 12.55 13.20 3
5 229|FE =AY EMK 13.50 DNS
6 306/ IlLA EE THEXR 12.30 X X X X 12.12 13.12 13.12 4
7 117|F R BH ETX 14.73 X X 14.00 13.70 — — 14.00 1
8 210|488 K IEF EMX 13.50 11.80 12.10 X X 12.40 12.25 12.40 6
9 303|BER IES THEXR 12.34 12.10 X X X 12.80 13.44 13.44 2

=T

HIE No. K% FiE SEx 1 2 3 4 5 6|50k [[td
1 314|ElF =K THEXR 12.00 X 11.20 10.90 X — — 11.20
2 122|5i1H EBE EIX 18.29 11.62 11.42 11.10 10.69 — — 11.62
3 238| KB =& {E K 10.00 X 10.94 X 10.91 10.03 10.84 10.94




7E = Bk

Xt
SRIE No. K4 i@ $&i08 | 1.30m] 1.35m| 1.40m| 1.45m| 1.50m| 1.55m| 1.60m| 1.65m| 1.70m| 1.75m

1 126 ;B FF = ETX 1.65 O O x O X X X

2 222| 5 $hiE EMX 1.70 g x O X X0 | % x X

3 07|5EK&F THEK 1.40[O X X X

4 115|H# F L& EIX 1.75 xxO [xO [O X X X

5 219| KB A EMXK 1.80 O O @) O X XO [ X X X

6 309|K#f FEABR |THEX 1.40 X X X

7 112|#ix HR ETX 1.95

8 2153k K2 EMK 1.85

9 14| =F TA THEXR 1.70 —O |O — x O X X X

No. K4 & SZ508k| 1.80m| 1.85m| 1.90m| 1.93m m m m m m m| G0 Fk JIlE 452
103|E5 ik A ETX 1.65 1.70 3
222| 5 $hiE EMK 1.70 1.60 6
07| FEX EF THEKR 1.40 1.30 8
115|F E 8 BETX 1.75 1.70 2
219| KB B A EMK 1.80 1.70 4
309|K#f FEAER | THEX 1.40 1.40 7
11281k HR ETX 1.95[O [@) X X X 1.90 1
215[dk] K2 EMX 1.85] x x x NM 9
14| =F A THEK 1.70 1.65 5
. P
B No. K4 g &8 1.30m| 1.35m| 1.40m| 1.45m| 1.50m m m m m m| E0 8% 254
1 119];5K & EIX 1.50 O — X X
2 238| KB RE EMK 1.50[O X X X




i fLix

Xt
RIE No. K£ FilE SEiix 1 2 3 4 5 6|50 8% JIE {2
1 104|HF ZX EIX 7.99 7.77 7.95 7.85 7.91 8.29 8.02 8.29 4
2 222|E 1 $hiE {E 90 K 8.00 6.88 6.94 6.11 7.86 7.89 — 7.89 5
3 308|& )1l &3k THEK 9.00 7.91 8.77 9.12 9.47 9.09 — 9.47 1
4 112[#ix BR [ERpN 7.00 X 5.81 6.12 6.16 5.86 5.77 6.16 7
5 201 | &/ i EMXK 8.00 8.21 8.66 8.69 X 8.26 8.26 8.69 3
6 303|BER IEF THEXR 6.71 5.93 5.80 5.87 — — — 5.87 8
7 11935 K & [ERpN 7.00 5.53 6.15 6.53 X X — 6.53 6
8 205|f&27t 8 EMK 8.00 8.80 8.55 X X — — 8.80 2
9 318[3LTE * THEX 7.00 X 5.68 5.59 5.38 — — 5.68 9
F—T>
B No. K4 P& SEx 1 2 3508k [[td
1 02| B EE THEK 6.00 5.39 — 5.04 5.39 2
2 126 BH = ETX 9.50 X 8.25 7.98 8.25 1
3 239 H Il EHE EMK 8.00 DNS




0

) 1%

Xt
SIE No. K£ P& SEiR 1 SCER 4 5 6|5CEk [t
1 104[H M ZX 2T X 30.00 O 32.48 — — 32.48 5
2 222| 5 $hiE EMXK 40.00 O 33.79 [} 1 33.79 4
3 303|fkR IE= THEK 9.96 O 17.74 — — 17.74 9
4 119[;57K & 2T X 30.00 X O 18.07 — — 18.07 8
5 229|5FF =y EMXK 50.00 X O 40.45 40.45 2
6 34| =% TR THEK 40.00 O 33.44 36.73 3
7 110|ES # & ETX 30.00 O 23.44 24.07 6
8 201 | %74 sois EMX 56.00 O 49.36 — 49.36 1
9 318|3T1E & THEK 30.00 O 18.42 — — 19.84 7
A—2>
HIE No. K4 P& SEiix 1 2 sCE% [[td
1 304|518 Rk THEX 12.34 O 30.49 3
2 309| K#F FEAER THEK 15.00 [ 15.69 7
3 302[EH EE THEK 15.00 [@) 21.03 5
4 (a0 ZE THEXR 25.00 X O 16.01 6
5 126 iBF i ETX 45.00 [ 4248 1
6 205|f@Jc B2 EMX 45.00 O 32.99 2
7 239| H Il EE EMXK 30.00 [ 25.41 4




